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i Grey line: exponential fit Peak flux: 1.885+/- 0.287 c/s/cm? j
- Black line: power law + gauss fit Fluence : 14.04+/- 2.45 c/lcm? —
r Dashed line: power law Duration 17.774)- 3.76 s 7
} Best fit model: 1. {
- Best fluence model: 1. ]
. Best duration model: 1. I
- WMWJHH}J HWM Ml W } H M | I HHH | HH | L HW MMH}HM
- H ! m I HW o W “) kb M }Hﬂﬁw}ﬂ LU RN
; Exponential fit é
= Expon.time: 5.09+/- 0.91 s (chi*red= 0.86) =
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; Power law fit é
= Power law index: -1.658+/- 0.247 (chi’-red= 0.86) 3
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— Power law fit plus Gaussian (st.dev.= 5.42+/- 1.20 s, fracgs= 1.51+/- 2.73) =
- Power law index: -1.209+/- 0.908 (chi’-red= 0.86) -
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